Reincarnation Demands

The Universe Must Bounce
(Steady State Theory)

Reincarnation writings prophecy the universe
renews itself (bounces) every 20-30 million years.

The Problem: Universe has a very poor work
efficiency:

11,00 Of @ Millionth of 1%

UNIVERSAL RENEWAL OR BOUNCING
IS SCIENTIFICALLY AN IMPOSSIBILITY!!!
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Chances of Winning the
U.S. Powerball Lottery

11in 80,089,128

(1in 8 times 107)



1 in 10157

10157 4" marbles = 5,184 cubic miles of marbles

Builds a road 38 feet thick x 3 miles wide x 240,000 miles
long; long enough to reach the moon

It would take 7 billion people (everyone alive on earth)
counting 4 marbles per second 24 hours a day,
2,939,571,428,571 years (almost 3 trillion years) to count
them.

If you made this road all WHITE marbles except for one
RED marble, 1 in 10'%7 is the chances that one
blindfolded man would pick up the RED marble on the
first try



Scientific Threshold of
Impossibilities

1 in 1030




Chances of Freezing to Death
In A Room Temperature of 70°

1 in 10°°




Impossible: Anything beyond

1 in 1030

Freezing to Death at 70°

1 in 10°9



1030 IS much bigger than 1050

1031 - 10 times more unlikely
10%2-100 " f ;-
1033 - 1000

1034 - 10,000

103° - 100,000

103¢ - 1,000,000 (Million)
1037 - 10,000,000

1038 - 100,000,000

103° - 1,000,000,000 (Billion)
1049 - 10 Billion

1041 - 100 Billion

1042 -1,000,000,000,000 (Trillion)



1043 - 10 Trillion times more unlikely than 1039
1044 - 100 Trillion

104> - 1,000,000,000,000,000 (Quadrillion)
1046 - 10 Quadrillion

1047 - 100 Quadrillion

1048 - 1,000,000,000,000,000,000 (Quintillion)
1049 - 10 Quintillion

10°9 - 100 Quintillion



Impossible:

1 in 1030

Freezing to Death at 70°:

1 in 10°°

Jesus Accidentally Fulfilling 48 Prophecies:

1 in 1017



